oo

00 (000000000)

0000000 (MTH.B211) 00 J0O00000000000 C~-000 «0000 C>-0
0r700000000000000000000 ~:J—R30O
000 0000 rO00000OC0O0O0C0OOCOOOCOOGOOO0
000000 y—=Ay+a0AcSOB)0acRODOOOO0
ooooo ooooo
kotaro@math.titech.ac.jp
www.math.titech.ac.jp/~kotaro/class/2020/geom-1/

6: 000000000

gooooooooooao

2020/11/05
2020/11/05 2/13
goooon 0
» 0000 y(t) (i=1,...,m) 0000000 0
i o 00000000 ¢g0000000 (000000000000
i) = filt,yn(t), .- ym(t))  (i=1,...,m) 000000 o= () O
000000000000000000 f@G=1,...,m)0 P J

m+1000 Cc>-0000 ﬁ:—wQSinr, wi=y/7
» 000 fi0 v, ...y, 0000 10000000

. ‘ 000000000000 000D0000000

yi = an(®)y1 + -+ + a@im () ym + bi(¢) (i=1,...,m)

dt)=yt), Y(t)=-wsina(t)

00000000000000000000000 ag, b

(i,j=1,...,m)0 m+1000 C®-0000 00000000000 z(t),y(t) 0000000000000

ooooo

2020/11/05 / 2020/11/05 4 /13

O googoooocooogo
0 00
0000 k000000 mO0000000000000000 000 JCROOO UCR™O0000C®-000
00000000000 «=a2() O F:JxU—>R"0 toeJ0zeUOD0000000000¢ 0
000000000 J/cJO00000 c®-000
%z 5 k f:J =R"”0
— = —w’z, W=/ —
dt? m
U = Pt £t to) = 1
0000000000000000000000 G O=FEL®),  flto) == 1)
Jl) =y, Y () = - alt) 00000000000000000000() 0000 F0 «
00000000000 f(te) 00000 (42) = f(t,2) O
00000000000 «), () 0000000000000 c~-nnonoooon
000

2020/11/05 / 2020/11/05

gooooooooooon u
od g
000 JCRODOC®-O000 ay(t), bi(t) (i,j=1,...,m) 0 00 000 J(5t) 000000 ¢*-000000000
toeJ, (z1,...,z) eR™OOO0O0O >y = o)y, y(te) =1 000

{ ilz(t:o)ai(i).yl o Qi () ym + bi(t), (i=1,...,m) y(t) = exp/t o(u) du.

0000 C®-000y:J—R(@E=1,...,m)0000000 '
0oo ! ( ) >y =p(t)(1+y?), y(t) =0000

y(t) = tan /t o(u) du.

to

2020/11/05 / 2020/11/05 8/13



gboooooobbon ogoogoooooo

000 C*-000000 Q¢ D0o0000oooooog FO
ooooooooooobooooo

oo

00 JODO0OO000O00000 C>°-000 «0000 ¢®-0
0 -000000000000000000004:J—-R30
000 x0000 700000000000000000000
000000 vy—Ay+a0A€SO(B3)0aecR000O0O0
0oooo

oo ooooooo

00000 QODO000000000A€SO(m) 000 (2)0

000 F0O SO(r)000O00OO

P =rmou  Fio=A )

ooooooooO0oOo=00000000COC0O0O0O

oo.
(FF) =

2020/11/05 / 2020/11/05 10 / 13

ggooooooo

ogd

00 JOoOOOOoO0OO0oO0oo0o0 ¢~-000 0000 C*=-0
0r00000000000000000000 ~:J—R30O
000 xOOOO rO0OOOOOOOOO

oooooo
dF
()= Fo)s), Flso) =T
—£(s) 0
Q(s) == [ k(s) 0 —7(s)
0 7(s) 0

000 F=(en,b)000O

t
fy(t)::/e(u)du goooooooobooboooog
to

2020/11/05



